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0
1. IfF(w):/ V1+sectdt, then F'(x) = —+/1+secx

4
2. If f(1) = 12, f’ is continuous and/ f'(z) dz = 16, then f(4) = 2
1

1

4

3. Evaluate/ t(1— t)2dt= — 5
-1

i

4
4. Evaluate / (2 + 2*tanz) do = 0

—T

4

* 1
5. If f(x) = / V1+t2dt, then (f71)(0) = —
) V5
4
6. Evaluate / dr = In(In4)
.zl —
2 2
7. Evaluate tan(sin '(Z)) = —=
s lG) = —
8. Evaluate /tanx dx = —In|cosz|+ C
9. Let f(x) = Va3 + 4z + 4. Find (f 1) (3) = g
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o1 1 2
1. Evaluate the limit by first recognizing the sum as a Riemannsum : lim — (\/j + \/j + ...
n n

n—oo n,

h
Evaluat —dx. b) [ Va2 4 1dx.
Vauae(a)/m ()/

3. Let f(:lj) =+vx — 2. (a)Find fil (x) (b) Sketch the graphs of f and f*1 on the same
axes. (c)Find f~1(2). (d)Find (f1)'(2).

(23 4+ 1)*sin’ 2

4. Use logarithmic differentiation to find the derivative of y = , 0 <o <.
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5F'd()/i L d (b)/ L

. md(a — QT. — aX.

0 V1 —4x? 4+ 9

6. Differentiate (a) ¥ = tan" " y/z.  (b) y = Va2 — 1 sec™ ' .
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- 43— % 17 68
2 | (a)Vx2+1+C. (b)é(mQ—f—l)g —é(mQ—i-l)g—i—C’ 4.5 — (a) 542 57, (b) ¥ 4% 30
3 | (a)f Ha)=2"+2. (b)x. (o)f '(2)=6. (d)(fH2) =4 [61— %436

, @+ D'sin®x ( 122°  2cosz 1 e
Y= T3 23 +1 * sinz 3z 6.27 = ¥ AL 64

T 1 1 x? i ,
5 (a)ﬁ- (b)gtan 5 )¢ 6.6 — (a) #4& 7, (b) HI4E 9
1 x -1 2 _ 1 _ 33 13

6 | @5y O e eV o 6.6 — (a) ¥ 4% 23, (b) ¥ 4 30
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